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39.1.8; 11a (r mywn) 2 12b (7797 01°D)
I 1 mwn: obligation of Np»1a — even for women who have rule of inyw 1
a  All: must check except for;
i /72 reason —no point for npr1a
1  Note: this seems to work only according to 9”av9, who holds that a woman cannot be now y21p during nT >
(a) But: according to 1anv "1, who allows for non ny»ap during nm »m> as well as n2’t '»’ — why not check?
(b) Answer: 3nv "1 only allowed for non ny»ap if her “source is sealed” (i.e. not currently a nm1); if “open” — no non
it 7mv o1 5y nawr: (n1Yv during days 8-40 [121] or 15-80 [napa])
1 Assumption: this refers to a woman coming from nm% nrkmv >n’ (1-7/1-14) into 9mvo o7 "’
(a) However: that only works for 19, who holds that she has 1 1yn, at day 8/15 the N n declares it to be 1o
(i) But: according to "% (2 m1»yn; one closes at day 7/14 and the other opens until day 40/80) — needs np’1a
(if) Defense (7155): this statement follows w”a — who holds that it is one P’yn
1. Challenge: would the nwn present 'Rnw n’a as Nwn ono?
2. Answer: indeed, since the dispute (n"2/9"1) follows, it is bno >npYnn, where we ignore ruling of nno
2 Alternatively: nawy doesn’t mean that she is about to begin 9mv "w; rather she is in the midst of 9mv "
(a) Challenge: then it is obvious that she need not check
(i) Answer: we may have thought that she could be non nyap
1. Therefore: teaches that we cannot be y21p from 7110 17¥n to Xnv 7yn
2. Challenge: that only works for »%; but for 11 (1 1»vn), she could be non nyap now? (=»p17an)
a. Answer: even 21 would agree that we cannot be »21p from 9mv "’ to NRMY 1>
All must use o7y for . except for
¢ All: must use 071y for wnwn except for;
i 9mv o1 5y nawy: between days 8-40 (boy) or 15-80 (girl)
ii 7513 whose 0T is 191V in any case
1 & 772 a girl who is pre-pubescent and marries
(a) ©”xsheis given 4 nights (of bleeding with assumption of nan o1 =>nMNV)
(b) 772 she is given until wound heals
(i) Swmpw. this is only true if never stopped bleeding when having vwnwn
1. But: if she had wnwn without bleeding, then saw o7
2. Or: had one night, without w»nwn and without any bleeding
3. Or: the color of the T changed
a. Then: in all of these cases — NNV (support from rn»71)
(ii) Challenge (742 77): our mwn - according to YRMW, a N%Ina should check — perhaps color changed and nxrnv
1. Answer (827): clause beforehand omits n91na - she must do np»1a
2. Therefore: contradiction between that clause and ours
a.  Resolution: if she had relations, no point to checking — perhaps the “wnw” changed the color
b. However: if she hadn’t had relations, worth checking, as changed color would be nxrnv
d  Obligation of 77’7 twice a day — morning and evening — and when she is about to have relations
i Sxmww only obligated for m1nv, not for wnwn
1 Challenge: this is obvious (if a comment on the 1¢ clause) — as it indicates mnw
2 Correction: 9RmnV’s ruling was about 2" clause (...n721 R'NY NYVIY)
(a) 5w only applies if she is involved with mnv; since she must do np>1a for ManY, also must do for Yya
(i) Inference: if she isn’t involved with mnv, doesn’t require np>1a for relations
(ii) Challenge: this is taught in 1:1 — all women are nnv npna for their husbands
(iii) Defense: from the niwn, we wouldn’t extend that nptn to a woman who has no non
1. Challenge: our mwn is addressing a woman who has a non
2. Answer: our mwn is referring to either one - with or without a non
a. Teaching: that even if she has a non, may not engage in relations (if involved w/mnv) w/o np»1a
(b) Challenge: YRmWw already stated this: if a woman has no now, must have np»1a for wnwn
(i) And: we established that that rule applies only if she is involved with manv
(if) Explanation: one ruling was inferred from the other (®1w didn’t issue both nynon)
(c) Note: support for 981w from 8n»11 — with caveat that she is only n9nv nptna if he left her that way
(i) But: if he left with her nxnv, assume nxrmY unless she explicitly tells him "x nMNv”
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it Question posed to 77177 37 should a woman do a np»7a for relations (if not engaged in m nv)?
1 Answer: let her check — why even pose the question?
2 Defense: if she checks, he will be concerned and avoid relations
iii  Question posed to 81171 27 should a woman do a np>72 within non Myw and generate nxvn 2vn for husband?
1 Answer: checking within non 79w is impossible (analogy with entry...)
2 Rather: should she perform map within that time?
iv  Alternate version of question: should she check (after non myw) and generate nYn owr 21N?
1 Answer: what harm is there in checking?
2 Defense: if she checks, he will be concerned and avoid relations
v Analysis of 2" obligation: when she is about to have relations
1 8277 (quoted by »»x ’7): this is the cloth of mynx
(a) Challenge (500 72 8ax ") if it is obligatory (per our mwn) why associate it with myx?
(b) Answer (’n5 *7): anyone who fulfills nnon »a7is called "1y’
(i) Challenge (837): inference — if they don’t fulfill n”1 — not ynx — but they are yv-!
(ii) Rather (¥37): mynx won't reuse the cloth for another np>73; non-mynx check but use same cloth
vi  Revisiting 5Nm¥'s rule: woman without a non requires np»7a for wnwn
1 Challenge (871 ”): inference — if she has a non, no np>1a required?
2 Answer: if she has non, only requires if she is “up and about”; if no nom, even if she isn’t (“sleeping”)
(a) Observation (827): since he didn’t answer that non n% v’ only requires for m nv; N PR needs for nYya
(i) We can conclude: that S®mw holds that no one requires np>1a for vnwn (unless engaged in M NY)
3 ar772 husbands who come from work or celebration late at night — their wives are 19nv npma and they may sleep
with them — whether abed or awake —
(a) Caveat: this is only if they left them 770 npn3; if not — MrNL until they declare "1x NMNV”
(b) Swxpw: cannot explain this — if they have non, why “awake” is nanv nprna; if non onb PR, why both?
(i) Answer: must be non 1% v’ —and his ny’an generates the best np*1a
(c) Practicum: Raa "1 asked Ra7 if he could rely on this xn»a
(i) Answer (¥37):in appropriate — if she does np»11 in front of him, he is disgusted
(if) Story: students asked nan’s wives if they checked when husbands returned home (answer - “no”)
1. Observation: they didn’t ask their teachers; they may have answered more 8»p% than their own practice
vil  ar7292 dispute 130 Rar/R”an1/n™ regarding status of a woman who has no non
1 »”7 she may not remain married and he may not remarry her=loses na2yn2 and all attached (manrm ,mx>1 ,m19)
(a) Reason: since she isn’t able to engage in nX»3, she loses N2> — and all n21M3 *RIN (e.g. M’9) are NN
(b) May never remarry: even if she later gets a non
(i) Reason: he would then state that had he known he never would have given her the va
1. And: the 3 is retroactively nullified, her children are now o™mn etc.
2 N7anT she may use o1y —just as they “testify against her”, they may “testify for her” (if found clean)
3 o &ax: her husband loses — may not have nx»a with her, as she may 5p%pn him
(a) Some: read this as response to n"1 — that her n21n> must be collected and given to her
(b) Others: read this as response to X”am — that she does, indeed, hurt him (n»1y are insufficient)
4 Practicum: YRmw ruled like R"an"
(a) Question: is this m7nv1 NMOY (in which case, YRW already stated this)
(i) Or:is it manva npoy NR — which YRNW already stated does not need npr1a
(if) Answer: she is npoy; each teaching presented by different student of YRmnw
e  Extra obligation for nua> when they are about to eat nmn
i s " even when they’ve finished eating nman
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